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Foundation Tier

Question Key
A conduction 1
One B convection 3
C insulation 4
D radiation 2
A kinetic 1
Two B light 4
C sound 2
D thermal 3
A boiler 1
B enerator 3
Three g
C transformer 4
D turbine 2
A 5 1
B 27 4
Four
C 340 3
D 540 2
A coal-fired 1
B h [
Five geothermal . 3
C hydroelectric 2
D wind farm 4
A B C D
Six 4 3 1 3
Seven 4 1 2 2
Eight 3 3 3 1
Nine 4 2 1 3
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Question Key
A coal-fired 1
one | aosectc 2
D wind farm 4
A coal 3
Two B nuclear 2
C tides 4
D wind 1
A B C D
Three 3 3 3 1
Four 4 2 1 3
Five 2 4 4 3
Six 1 4 3 1
Seven 1 3 4 3
Eight 1 2 4 4
Nine 3 4 3 3
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Centre :
Candidate Number : UCl : Series : 6M12
Candidate Name : 22-JUN-12

For completion by the Examination Invigilator. Please fill this circle if the candidate is absent: o
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b Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefuily.<

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A -D

QUESTION ONE 1 2 3 4
1A coal-fired @l el el (e
1B geothermal G 0 9 O
1C  hydroelectric o el e e
D wind farm e B 0 © /J .
- QUESTION TWO 1 2 3 4
2A coal OO DA
2B nuclear g 6 & ©
2C  tides o @ 8 e
el EN BB
QUESTION THREE (" QUESTION FOUR ) QUESTION FIVE
1 2 3 4 1 2 3 4 1 2 3 4
3A O @] O O 4A O O O O 5A o) £ O ®)
3B O O '®) e 4B O O O O 5B Q O @) o
3c O O O O 4C O O O O 5C O O O O |
QUESTION SIX A ( QUESTION SEVEN ) " QUESTION EIGHT )
1 2 3 4 1 2 3 4 1 2 3 4
6A O O O O 7A O O ) O 8A C @ o O
6B O O O O 7B Q O O @) 8B & e O o
6C O o) @ O 7C o) O o) O 8C o) O O o)
o o%F o o) \m o080 o o) (o oWF o o
| QUESTION NINE )
, 1 2 3 4
' 9A O g O 0O
9B O O O O
9C O o) O O
. 9D o) O 0 o )
F= S L
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Questions ONE to NINE Choose one response 1 -4 for each of the parts A -D

FOUNDATION TIER

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.{

i/ QUESTION ONE 1 2 3 4)
1A conduction @ e e @
|
1B convection O 0O O O
'1¢C insulation e e e @
1D radiation g & g ©
( QUESTION TWO 1 2 3 4)
2A kinetic o e elle
2B light Qo O ©
2¢C sound & e e
2D therm_a_l O 0 0 O )=
- QUESTION THREE L 2 3 i
3A boiler e (@i e (@
| 3B generator G B 0O B
3¢ transformer ® e e e
| 3D turbine B 8 0 B
QUESTION FOUR 1 2 3 4
4A 5 e e e e
aB 27 @ © @ B
f4c 340 o o & @
.\_4[) 540 O O O o/ .
e QUESTION FIVE 1 2 3 a
5A coal-fired e ‘e @ 8
5B geothermal g @ d o
5C hydroelectric @ @ @ e
5D wind farm B B v o
QUESTION SIX QUESTION SEVEN QUESTION EIGHT )
1 2 3 4 1 2 3 4 1 2 3 4
8A O O O O 7A O O 0 @) 8A O O ) (@)
6B o) o) 2 ) 7B 0 O o} o) 8B 0 @) 0 O
6C 8 Q O | | 7C O @) O 8, 8C O O O O
. 6D w J_ o} o) . 7D o) o) o) o ) 8D o} e O >
" QUESTION NINE
1 2 3 4
9A O O O @)
9B O O ) O
ac @) O @) O
9D @) O O 0
7 o
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